Herleitung von i(i(n)) =n
Axiome: f(f(z,y),z) = f(z,f(y,z2))
f(x,e) = =

f(x,i(x)) = e
i(i(n)) x = f(x,e) o= {xz/i(i(n))}
f(i*(n), e) e = f(z,i(z)) o = {z/°(n)}
f(i*(n), f(i*(n), *(n))) f(z,f(y,2)) = f(f(z,9),2) o ={z/i(n),y/i’(n), z/i*(n)}
f(f(i*(n),’(n)),i*(n)) f(z,i(z)) =e o = {z/i*(n)}
f(e,i*(n)) x = f(x,e) o= {x/e}
f(f(e,e),i*(n)) f(f(z,9),2) =f(z,f(y,2) o ={x/e,y/e, z/i*(n)}
f(e, f(e,i*(n))) e = f(z,i(z)) o = {z/i*(n)}
f(e,f(f(*(n),’(n),i*(n)))  f(f(z,y),2) =f(x,f(y,2)) o ={z/i*(n),y/i’(n),z/i*(n)}
f(e,f(i*(n), f(’(n),i*(n))) f(x,f(y,2)) =f(f(z,y),z) o= {x/e,y/i*(n),z/f(i’(n),i"(n))}
f(fle,i*(n)), f(i*(n),i*(n)))  f(x,i(z)) =e o ={z/i°(n)}
f(f(e,i*(n)),e) f(x,e) = o= {x/f(e, _w?@vvw
f(e,i*(n)) e = f(z,i(z)) o ={z/n}
f(f(n,i(n)),i*(n)) f(f(z,v),2) = f(z,f(y,2)) o ={z/n,y/i(n),z/i*(n)}
f(n,f(i(n), _MAS\VVV f(xz,i(x)) =e o= {z/i(n)}
f(n,e) f(x,e) = o= {xz/n}

n



